Lautex

MARINE PANEL LAUTEX HT-300/ B-0 / A-15 DECK

THREADED ROD M8 I L—LIST No. 50 I

CONNECTING PIECE No. 66 i | ' |
| /

|
CARRIER LOCK No.64 (or No.65) | K
¢/c max. 1200 N

|
|
—— —

PANEL HT-300/B-0

Q
S
f W
(Qo
| . U g Carrier No. 90
e 8
V V4 4 S0
M
35
25‘ ‘ 275 ‘ ¢/c 300
F |
ALTERNATIVELY
Steel tube 40x40x2.0
Self support up to
2330 mm
o
<+
HT-300/B-0 HT-fitting panel/B-0
40
Rockwool 25 mm Rockwool 25 mm
density 40 kg/m3 density 40 kg/m3
© ©
mmm;&gm& wmgggggggéﬁﬁgﬂggggggggggw‘ﬂc
25 275 25 24 MAX. 475 25
HT-300 PANELS / CLASSIFICATION "B-0"
Material 0.6 mm Steel
Width 200 mm, 300 mm, fittings max 500 mm
Height 26 mm
Length max 6500 mm, fittings max 4000mm
Insulation rockwool, density 40 kg/m3, s=25 mm
Finish stove enamelled
according to any well-known colour chart
Protective film the surface is provided with a
protective film
End bendings standard
Other special please contact our technical
solutions information department

Latest information: www.lautex.com
All products are subject to modifications without prior notice 2018

Oy Lautex Ab P.O.Box 58 FIN-03101 Nummela FINLAND
Tel. +358(0)92248 810 E-mail: sales@lautex.com www.lautex.com




Lautex

MARINE PANEL LAUTEX HT-300/B-0/ A-15 DECK

DET. 1

Carrier No. 90 Fastening screw

/to every carrier
/ | 4

—

.//

DET. 2 (ALT. 1)

Fastening screw

¢/c 300 mm \ |
L—list No. 50 |
\
\
|
Fostemng screw P;/‘ﬁ

/g
c/c 300 mm /
End bendings of panel

DET. 3 (ALT. 1)
Fastening screw
c/c 300 mm
—- */ =it (;\loc:;ri:JroNo.QO
[/ 7
L |
| \panel

DET. 2 (ALT. 2)

Fastening screw
c¢/c 300 mm

L—list No. 50

\
\
|
End bendings of panel

Z—list No. 51C

DET. 3 (ALT.2) DET. 4
Fastening screw —[— Carrier lock,
¢/c 300 mm ! ¢/c max. 1200
Z—list No. 129 ‘ .
/ Carrier No.90 | Carrier_No. 90

Panel

|
\
|
|
| L

Panel Fastenig screw

to every groove

Latest information: www.lautex.com
All products are subject to modifications without prior notice 2018

\ Group T
Page 2

Oy Lautex Ab P.O.Box 58 FIN-03101 Nummela FINLAND
Tel. +358(0)92248 810 E-mail: sales@lautex.com www.lautex.com

DS R
© 5

.\’\’
&
Ninsst

450500}



Lautex

MARINE PANEL LAUTEX HT-300/B-0/ A-15 DECK

DOWNLIGHT BOX
max. 275x1200

TEEETEEEE TS SNBSS NS SUSS GBS U SBSSERRUBS TS BTSN

A-A

SEOS0UCS0US8T0880080008000880T

NS

TETT

x
==

275 Panel

1120 Around

275 Panel [25 275 Light box |25

Max. length 1200 ' '

N

SERVICE HATCH
max. 600x600 mm

Cut out for
built—in equipment
(downlight, sprinkler, etc)

_ EET |

PEESEEBEL

NN

Panel
Latch

il

Ul |

THEORETICAL NEED OF SUSPENSION STRUCTURES

gl s

WEIGHT OF OTHER CEILING MATERIALS

Oy Lautex Ab P.O.Box 58 FIN-03101 Nummela FINLAND
Tel. +358(0)92248 810 E-mail: sales@lautex.com www.lautex.com

Product Need of material Carrier No. 90 0.83 kg/m
Carrier No. 90 0.8 m/m2 Carrier lock 0.08 kg/pcs
Carrier lock 1 pcs / carrier meter L—list No. 50 (1.0 mm steel) 0.64 kg/m

L—list No. 50 0.8 — 1.4 m/m2 Z—list No. 51C (1.0 mm steel)| 0.52 kg/m

Z-list No. 51C 0.0 — 1.4 m/m2 Z—list No. 129 (1.0 mm steel)| 0.83 kg/m

Screw 4.2X13 No.75|~8 pcs /m2

WEIGHT OF PANELS KG / M2

Panel HT—300/B-0 Latest information: www.lautex.com
Material | 0.6 mm steel All products are subject to modifications without prior notice 2018
Weight * 6.92 kg




| autex
MARINE PANEL LAUTEX HT-300/B-0/ A-15 DECK

ACCESSORIES
No. 90. CARRIER No. 50. L-LIST No. 51c. Z-LIST
35
,% %18,
Q
i = N i
= i
40 20
+ e

No. 129. L-LIST No. 66. CONNECTING PIECE No. 64. CARRIER LOCK

%T I M6x1.25

i

50

41

150

40

No. 65. CARRIER LOCK
VIBRATION INSULATED

M6x1.25

150

Latest information: www.lautex.com
All products are subject to modifications without prior notice 2018

Oy Lautex Ab P.O.Box 58 FIN-03101 Nummela FINLAND
Tel. +358(0)92248 810 E-mail: sales@lautex.com www.lautex.com




	HT-300-B0-A15
	Page-1
	Page-2
	Page-3
	Page-4


